Grade 8 Math Pythagorean Theorem Prgctice

1. John and Gloria start hiking from the same pomt After John hikes 7 km d_j:e east an(‘ (éb)rla I‘nke‘f ﬂn'ﬂu{_

north, how many kilometers apart are the twg g—s
A) 53 B) 5.4 O D) 9.3

C—?.l

2. A right triangle has one leg that is 24 ¢m and a hypotenuse that is 25 cm.

N
Find the length, in cm, of the third side. bl - l
A1 B) 7 c) 24 D) b T) FZH
3. Which set of side measures form a right triangle? b =6l 5 S? é
2 2 11 11 ¢ ‘q :\
A) 15, 30, 34 B) 16, 28, 32 C) 7,7, 14 D

What is the length of side AC? OLlO #lo U—\

B) 7 cm C)25cm  D)49cm
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5. Which set is a Pythagorean Triple? | C
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6. A rectangular patio has dimensions of 9 m by 12 m. How far must A be from B to be certain that the
corners are 90°?
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Is this a right angle triangle? Explain how you know?
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Find the missing side of each right triangle.
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A 4m ladder is resting up against a tree. The base of the ladder is 1m away from the basigfﬁe-tlee. How
high up the tree does the ladder reach?

X| HW\ \01: CQ-O:_
= h'z,_ \XLP\
-l The lodder

i b,L . reaches 3 dm
\I’b‘ :{ Up the -\'Yee.
Lb= 3|




Grade 8 Math Pythagorean Theorem Practice

10. Brandi lives to the east of Julia. Julia lives to the south of Eve. There is a bike path that connects all three
houses to form a triangle.

A) Label the diagram to show where these three friends live in relation to each other.
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B) If Brandi lives 6 km from Julia and Eve lives 10km from Brandi, how many kilometers is it from Julia’s house
to Eve’s house? Show your reasoning.

b"-cz— az I 'lslghm prom |
Julia's house to Eves

11. The city \)‘/’nts to pgt a fence around the perlmeter of a rectangular playground. The playground has a width of
10m and a diagonal measure of 11m.

a) Draw and label a sketch of the playground and then determine how many meters of fencing is needed?
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b) If fencing can only be purchased in lengths of 2 m, how many pieces will be required?
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12.

A bridge is made of 2 right triangles with dimensions shown below. A car is travelling across the bridge from
point A to point B. What is the length of the bridge?
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Bill is building a floor for his garage. He measure the side lengths to be 9 meters by 12 meters.
He measures across the diagonal of the floor and gets a length of 16 meters. Is the angle between the two
sides a right angle?
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A wire runs from the top of a cellphone tower to the ground. The wire touches the ground 10 m from the base of
the tower, and the wire is 25m long. How high is the cellphone tower?
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